Chandigarh Police Constable Question Paper 23 July 2023

1. Highest Civilian award of Indiais .

(@) Ashok Chakra (b) Padma Vibhushan | i
() BharatRatna (d) Padma Bhushan
WG &1 FaT ARG [EHR gl
(@) OEND TP (b) O o
(€ HRAld-~ (d) TST3EU
3733 © <R Frarfad YaraTd JI
(a) R YT (b) e fegne
(¢ FT3d35 (d) WeHGHT
2. KFON is a project initiated by the government to provide free Internet connections to
20 lakh below-poverty-line families and connect 30,000 government institutions in state.
(@) Kerala (b) Karnataka (c) Nagaland (d) Oddisa
KFON T& UG § S WHR gRI T Y@ A 2 & 20 a1 gRar| & o sexAe
FaT e A 3R T H 30,000 TRHRT T Y g F g IR= @t 78 g
(@) @ (b) FAlCPH (© TS (d) IS

krFoN g Ufae 3 # AIIG o Irdte u 3 It Ifde 20 By ufgerdt § ve3 ffedae
TATHE YTTG I36 113 IH {9 30,000 FITH HAERt § 76 BE 5y o131 fapr I
(a) 9B (b) TI&H € ®EArE3 d) €

3.  Where was the Advantage Healthcare India (AHCI) 2023 conference held ?
(@ Mumbai (b) Kochi (c) Hyderabad (d) New Delhi
Ugaies e PR SIS (AHCI) 2023 TR Hal Sfraford fovar mar ot ?
@ o (b) e © ¥R @ R
nEeten Jzgamg el (AHCY) 2023 TTaSIH fard w15t It Ft 2
(a) Mg (b) o () dJTdER d = Rs

4.  On which date is World Milk Day observed ?

(@) June 04 (b) June03 () June02 (d) June 01

fasy g R fRrw fafdy &1 AT ST & 7

(@ 04YAH (b) 03 %[ () 02%d (d 013 \
fere ¥ foen fan il § Hafom AiETd 2

(@) 04F% b) 03T (© 027s d 019
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ol '
) 9 |
5. 1f22% of x=30% of y, then y : x is equal to : i e
R x BT 22% =y BT 30%, Wy ; x R :
A x T 22% =y ¥ 30%, 3ty : x GIEI I :
. _ , () 11:15
@ 15:11 (b) 15:14 (¢ 17:16

i iginal Song f
6.  Which of the following Indian film personalities won the Oscar Award for Best Original g for

"Naatu Naatu" for the 2022 Telugu film RRR ?

(@ M. M. Keeravani b)” AR.Rahman
()  Resul Pookutty (d) Bhanu Athaiya -
aﬁzozzﬁﬂmﬁwmemmaw%1ma@"ﬁ$mmﬁﬂﬁw$m@3mﬁ
forem Ty T 1fia & R Sifer 3rafs Sitar U1 2

(a) UH.UH. HRAM! (b) TSR IGAM

© Remged (d) W SHU=TT

2022 ¥ 35 femH nramgna TE "arg g e el I feseibut 9!
fom & 78 3 <o 4 913 TE wmEa wETds frifs ?

(@) MM g b) B3I
(c) foggugd (d) I wEE

7. India won the first cricket world cup on
(@) 25" June 1983 (b) 25" July 1983
(© 22" June 1983 (d) 25™June 1979
YRd 3 Uy fbde fay o St ol
(@) 255 1983 (b) 25 TS 1983
(©) 22731983 (d) 2571979
EIGER) & ufgs fqae feme Ju ffanr /i
(@) 259& 1983 ' (b) 25 7Bl 1983
() 229& 1983 (d) 259& 1979

8. Three of the following four are same in a certain way and hence form a group. Find out the one
which does not belong to that group.
(@) Violet (b) Green Ac)  Black (d) Red
Arofifad 9 § A &7 @ ¥y wd § TAF ¢ 3R 56 $RU A @ 998 T €1 9 TP &1 7l
T ol 39 g & el e & .
(@) & (b) T () TN« d)
fovaTeuz v1d 4 9 ¥ wm 31 o 3 fird 95 »13 fom amas ¥ Mya 98 o) GRffad
39 6F AYd &% A3 &1 d |
(@) Hard (b) T (© dqF d) IS

4
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A number first increases by 10% and then decreases by 15%. The percentage decrease as a whole

is: '

7 §OH 6T 10% B eR q 75t 3 OlR RR 159 ot ox @ P B S B 1 I EICNG

el w0 (@)

g A 1%3@3»@%315%@3138@@@&3@%3@

3 '
\/(a)’ 6.5% (b) 55% () 45% (d 3.0% JI: 1 I
(.

10. A bus covers a 60 km distance in 1 hour 30 minutes, whereas the same distance is covered by a car

in 45 minutes. What is the ratio of the speed of the car to the speed of the bus ?

7o 9 60 fopHt 1 gt 1 HeT 30 foe # 40 vl 8, el S @ ol e IR 45 Pre F g et 21
PR B M0 BT T4 B 14 sFuE D 2

e ¥ 60 fardhted & gt 1 uR 30 fifet g I 7t 3, 7 f firch et e 9 45 e g i o G

3¢l J1 I € Il w3 fR A iz v wimuz ot 3 2 Q- ST ?xéo
2:1 b 1:5 . ; _,é‘;l(.ﬁ
Ad) (b) © 3:5 " @ 5:3 & Z:j oo
o 7 2
11, Rohit tells his son, “I was three times of your present age when you were born.” If Rohit's present <
age is 48 years, how old was the boy 4 years ago ? L
(@) 24years (b) 8years () 12years (d) 16 years
AT ST 3T F Fodl 8, 919 TR o g3l @ § TR adHH SF &1 & T w1l 9l IR it
AR 31 48 T §, < 4 79 OB TS Bt 31 bt ot 2
(@) 24919 (b) 89 () 1291 . (d 169@
3z w2 2 § gfder 3, v 3Hl U R 3t garst viger ©ve 3 s e vt @ dfas fge
3 48 A I, 31 4 A Ufast B <1 BHa fefat A (- gy 3 J
@ 247% (b) 8HE (€ 1278 d 16HS _3_ Ljy,
12. Aword is given below. This word is followed by four other words, one of which cannot be formed
by using the letters of the given word. Find the word. . : .
Y 0 g oy e 21 5 TR 3 A AR 90 W 3 8, T 9 0 Foy T e & 90
SN Gy el T o Wl 1 e I Biford | e
ﬁaife”am:ggfawm for e 3 gmie 91 99 HEE SR T5, gt RI A g 3 mee @
Wit ¥ =gy qq wdl ST 7 REE| HEE ESI .
' o
COMPREHENSION PREACH ¢J '
(@) Comﬁﬁ; (b) PENSION () ONION dy” PREEER T2 12
CH-07/8 5 P.T.0.
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13. i
Which one of the following is not a prime' number ?

TR 4 2 v o v anroa e Y 22
%Wféﬁmwﬁf&wﬁ%?
(@ 31 (b) 61 @ 71 4dy” 91"
14. S.Sobha Singh is famous for
(@) Paintings b) Music () Poet (d) None of the above
TeRaifRe_ FRuuREd
(a) <t (b) Tha (© @3 (d) SR B Toll
ARFHW__ wdmgadl
() Uféar (b) Haftz © T d) feowt fEd et ad
15.  PGIMER Chandigarh was inaugurated 60 years ago by g
(@) Pt.Jawahar Lal Nehru (b) Sardar Pratap Singh Kairon
() Dr Zakir Hussain (d) Prof P N Chuttani
SHATEUAE R TENTG 1 IquIe 60 TTel Uge i gRT g mar o1 2
(a) U. AR A1 gE (b) TRER ya™ g A
(© ST go (d) VIheR die gert
PGIMER 931913 ©1 §TWeE 60 A% Ufast fam enrar i3t fapw /2
(@) Ufs37eas 8 afag (b) WIET Y fhyAF
@ Fmfad gia (d) Y Wnsgerat
16. Who is the Prime Minister of Egypt ?
(@) Mr Mustafa Madbouly (b) Mr Abdel Fattah el-Sisi *
() Mr Hosni Mubarak (d)  Mr Sharif Ismail
o F yuFEAR PHE ?
(@ MOEEEEEd (b) H 3fe Tetg or-Rydh
© o Erh gERe (d) #t=® TR
fig T YUE H3A AS I ?
(@) iy Hed (b) H WIS T3 wi-3fe
© T InE e @ H R s
6 RS
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17.

18.

19.

20.

21.

CH-07/B

Select the related number from the given alternatives

frg e fwedl et wem &1 77 B

fy3 gre feasut &9 Héfuz &gg €t 9 =

N*M:14*¥135X*Z:7?

(@) 24*23 (b) 23*24 ey 24*26 (d 26*23

Which country launched the ChatGPT rival ‘GigaChat- Al chatbot’ ?

(a) Russia (b) China () Iran (d) North Korea

5 32 7 ChatGPT Ufdgdl ‘GigaChat- Al chatbot’ = fPmg? '

() T by @ @ WM (d) SR

f7H @0 3 ChatGPT feat ‘GigaChat- Al chatbot’ B &131?

@ T b) & © ¥ (@ €3

Find the missing term in the given series :

& i e H W HS 1 P : 07

Rt et e R v SR e § 33 ‘ 1
$m) 89"%’7*’ .

15,22,31,42,55,72  1°
HORT A3\
@ 60 (b) 68 A 70 d) 74 /

World War I was fought during which of the following periods ?

T Ry g Frfafed § 3 g ol & SR g U ?

i fere Tu farafeus &S fam 7l ¥ dfent H ?

(@) 1909-13 ..—(—P)/ 1914-18 (c) 1919-23 (d) 1923-27

There are six persons Ashwin, Kiran, Komal, Dipen, Esha and Mittal. Komal is the sister of Mittal.
Kiran is the brother of Esha's husband. Dipen is the father of Ashwin and grandfather of Mittal.

There are two fathers, three brothers and a mother in the group. Who is the mother ?

(@) Ashwin (b) Kiran () Komal (d) Esha '

wmwﬁ,m,m,m,mmmélm.mﬁwél@_ﬁéwrawt%rw

i 1 A, o 2 o oA fos 5 ¥ e A 3 o, i ol g @ P A S A

PHR ?

@) () foeT ( P —@ g
%wm,m;m,m,m»@ﬁm@mmmﬁ.faaae'fm-eugw
EBT%@%,,{H@?;@ﬁgmﬁbswwﬁlaréuﬁaéﬁm,féagam@fé%(mﬁl}ﬁ‘o‘r‘zaz

(@) Hfes b) fa3 © B d) €

e ——
—
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22,

23.

24.

25.

rd ) d Jan, 2004 7
On 23" Jan, 2005 It was Sunday. What was the day of the week on 23

(a) Tuesday (b) wednesday (c)  Friday (d) Suneay
23 TRt 2005 21 AR T, 23 S, 2004 T FEE H1 A W e 1 7
() HTEER (b) FUAR © TR @
23 Tt 2005 % MFea Hi 23 aed, 2004 § T3 T s A A ?
(@ WaEeT (b) Hoerd @ B @ W
The number of zeros at the end of the product will be:
UGS & fd W R B S B
Teeem 2 iz e e St

58> SK¥ xS sxl
12x18x15x40x 25 x 16 x 55 x 105 MG

(@ 10 b) 9 (c) 8

If 'x’ means ‘=, ‘+' means '/, =" means v, '/ means ‘+', then 15-2 / 900+90 x 100 is:

(@ 190 (b) 180 () 90. (d) None of these
aft o e =, v wrad oy, = e, B 4 § N 15-2/900+90 x 100 BT A
FIEm 2 \ )SKR—+90H ¥ 96 — I
Je t 10-les
(@ 190 (b) 180 @ %0 @B FHITEE

gy THIBE A -, '+ THIBE Y/, < THIBEI X, 7 T HIBE I '+, 31 15-2/900+90 x100
I ?

The value of 8—[8—(5+8)—{8- (8—5 +8)} +10] is IS'XQ—{—C;/O .7‘-/% —fen
/ +o _
8—[8—(5+8)—{8—(8—5 +8) +10]DBIHA___ | g_‘%:’lu /o
—5"
g—[8—(5+8)—{8— (8=5+8)) +10)THS |
0 (d 10

@ 5 () 20
chor8 g-/9-'3 —Eg=IfFP] 8

3o[7-13 +32°) @
T A — i




26.

Statement :
Assumptions @ I
II.

Increasing taxes is an effective way to reduce smoking rates.

People will stop smoking altogether due to increased taxes.

(a) Only assumption Iis implicit (b)  Only assumption Il is implicit

() Either L or Il is implicit (d) Neither I norIlis implicit

FY: WORA YU B R B PAPA S U RMec RaAR BB —

gAl: L YU 3 R P $H B b R el § 9f T uMidt ’wr g1
| R A e | A e T R T R DL | G A R

oy e A | SfafiRa 21 (b) ad AT I 3fififed & |

(© WAAFA A AT D FafiRa Rl (d) T AR Hga  satfed g

fos:  “AId & fraaed T wai § werge et fiarde 3 Car ew i dr|

TIER: I QA U fHagea i i va § werBe v g ygrendt Ider J
I <A TS & B fAageadH fasgs de 99 ¥4

(a) fA9g Uge I ferfe3d (b) frA9g wga I fomfes J
© w3tiAnfeafesd d) @I Ednfenfesd
27. Where did India last win Olympic Hockey Gold Medal ?
(@ Helsinki (b) Moscow () Tokyo ‘ (d) Melbourne
URE I o IR it gt ol gae He! oifd AT 2
- (@ o (b) I (¢ (d) " A
3193 & vyt wrg GBfu= Trelt Jiws NS fa frifzmi i 2
(@) Jfd (b) HH (c) <di8 (d) WoEIs
28. A shephard had 17 sheeps All but nine di dled How many was he left with ?
R 5 1753 1 91 g o s L e 7 o A
9 o 3% 17 351 A | & &3  Frdiheft Wa Tt | §R I felasboit wiind! 3765 2
(@ O (b) 8 A4 9 (d 17
29. During the Mahabharata War, Shakuni was killed by
(@) Bheem (b) Arjun (c) Nakul (d) Sahadev
HETHRA T§ & QR P! ERT AR 1 4T '
(a) ., (b) Srefd © T (d) ¥e<d
WISE3 YU Sas HGal __ ovrgn Hifgnn famert Al >
() M (b) »ITS © BIB (d) FlaeR

The government has increased taxes on cigarettes to reduce smoking rates

CH-07/B 9 P.

@



PAes S
= 2
‘ 5 £S5
30. If6/7" of 8/5" of 3 number is 192, then 3/4" of the number is .
ute forelt s & &/5a1 @1 67741 w7 192 2, s 1 34t M 2|
+ard TR w2 8/5 = 672 1023, 31 i 374 Gl
ey 105 by 77 © 80 () 36
31. If Meera is the sister of Jasbir, Jasbir is the wife of Parmjit and Parmijit is the son of Amarjit, how s
Jasbir related to Amarjit ?
(@) Daughter-in-law (b) Daughter
(€ Wife (d) Mother
Tie HR1 ST 9 2, Sk wea @ o @ ik wea SFRSII T e &, il SRR $rRei
EERECIDAEE : : it
AT T b) A S ity T
(© Uell d) #f
MWMBE?%%,MWETMQ»QWW?%Q?MF
WA &8 S AT 2
(@ @9 b
(€ u3al (d) i
32. On which date is International Everest Day 2023 celebrated ?
(@) May 26 (b) May28 (© May27 (d) May29
IR T Raw 2023 frg arite &) wam w2
() 267 (b) 287%% (@ 277§ (d) 207
MIIIHEH MedAe feem 2023 fm fit § et fiamr 2
(a) 26H= (b) 28 Mt (c) 27H# d) 29 Mg
33. Where is the largest skywalk bridge in India ?
(a) Tamilnadu (b) Kerala () Maharashtra (d)  None of the above
YRd & G 91 WhIRalS A e € 7
(a) dIHEg (b) I () HERTY d FTHASE 7
IS s
(@) IHZSS (b) (€) HITHeg d) feosi iy =
10 ‘
CH-07/B
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34, A woman introduces a man as son of the brother of her father. How is the man related to the
?
woman {

(@) Uncle (b) Cousin (c) Grandson (d) Nephew
wﬂ%;@_maﬂqﬁm 3 et & 1€ & AT F wu A Farh §1 7 gow wfeen @ frw R

(@) I AL) TR R (c) U (d) e
f¥g wia3 T vt § wiyd fuzr @ 3972 U39 < IR 99l J1 HIE T ild3 &% d HEU J 2
(@ I (b) TIITII © U d) s

35. The first maritime partnership exercise involving India, France, and the UAE recently began in which

body of water ?

(@) Indian Ocean (b) Gulf of Khambhat

(c) Gulf of Oman (d) Gulf of Mannar

R, i IR GYa SRS 3HRTT (JUS) 1 T € & Tt WieRt onamy fob Sierld H Ry gafl
U7 ?

@ fo<He™IR (b) WHIG B! WISl

© SiHHE P @ d) WAR P A@IS

9193, IIH W3 GRE § IHS I96 <8 ufad! miedt SRl wigw I8 i e uret @ fam foR
feg gg Jfem i 2

@) fdeHatAaE (b) Yae U

© ©Grsdyd (d) Heog ey

36. Inthe following question, find out the alternative which will replace the question mark.

Flow : River :: Stagnant : ?

(@ Pond (b) Rain () Stream (d) Canal
Y Ry Moy Q99 fided &1 g A o vy RE S RE R Mem
miﬁ::m:?
a2y (b) st ( NI d) TR
1 R s 2, e 9 9 s il €

SIM & U3 7

@ qyz . (b) <9 () Ud d) @fdd

CH-07/B 11 P.T.O.



o <
o L4
0 - 1
“»
owards station B at 70 km/h . At the same time
ation A at 60 km/hr. After 11/2 hours

ter how many hours

37. A train started from station A and travelled t
another train started from station B and started travelling to st
they were still 65 km away from each other and had not crossed each other. Af
of starting would they cross each other ?

T 3 R A D T 8 2 ol @ B 3l 70 Rl A TR R Tl §1 S T TP o
570 83 T G 8 91R R A e 60 Ryrlaer 2 11§ T T A §1 11/2 9 P T4
10 2 -G A 65 Rorll gx O IR IR T qER B IR (Cross) T 16 o | AT [ PR P ey
Hel & TG d Td QW $) UR (Cross) DY ?
ﬁammAé'HaﬁﬁmﬁmsésmmlﬁﬁWﬁmmﬁlQﬁﬁﬁﬁ?ﬁ(
éaém‘%lﬁms?ag@ﬁ»@som}ﬁeaqﬂvf?émmﬂéMAﬁmﬁam
1172 Wit e @ G ¥ 71 3 65 fadies 7o e w3 ¥ g § urd &l i3t il W13 BY 396
2 fd& e ame §9 e ga § U3 (@am) s5ad

@@ 12 (b) 10 c 8 (d 6

38. 30 men working 7 hrs a day can do a work in 18 days. In how many days will 21 men working
9 hrs a day do the same work ?
(@) 20 days (b) 21 days (c) 18 days (d) 16 days

30 oW Ui 7 92 $1d o UH P @ 18 Al f AR FHa € | 21 3MeH! 9 € ufafeT sl
TR 341 B B favan &A1 7 B 2

Lty 20 A (b) 21f& © 18fa3 -(d) 16 fea
30 »ert feq fow &3 7 We a1 994 18 foat fS8 Fq o1 YaT 99 Aae 96 | 21 »eHt 6t o fes
f&g 9 w2 I 34 4 foai fdg 3&d! ? |
(@ 20 few b) 21fes © 18fes d) % 16 f&s
lo < A x
g xd= R

39. After best matching, find what is in place of "?" mark.

Coins : Mint : : Bricks : ?

(a) Foundry (b)  Furnace (© Kiln (d) Cementry
gafad fire & 916, 1d S {6 ? S R—M W FAqE 2

fyad : cpard ;3¢ :?

@ PR b k) g @ FH
73 3 ety fEs 3 ¥, B3 fa 2 A w332

Y caqns .« et 2

(a) ega (b) et © 3 @  Tied

CH-07/B 12



40. Which is the first e-commerce company to set up solar farms in India ?

@@ Walmart (b) Amazon (c) Flipkart (d) Ebay
IR H TR BT MG v areh wgeht €t ot e e 2 2
(@) gferTe (b) 3T © foausrd d) 39

3193 &8 WS TN HE3 q95 wrot ufgedt d-amian dudd fargdt 3 2
(a) TBHELC b) "HES € efByaage d) €49

41. Who won the Wimbledon 2022 Men’s title ?

(@) Novak Djokovic (b)  Nicholas Hilmy Kyrgios

(c) R Nadal (d) CGarin

fdaes 2022 TV Raam foem Sftar a2 o

A R oy P el i

© RS @ WA e 34,35

[aB3% 2022 Yaui v fuzrg de filfann 2 ' oy

() B A 0 foden fomi faafaen ¢ i &

© MIBITE (@ Tdfss ., r’}‘:;{'?;:x’: ’;{‘: &
qc | -

42. Three numbers are in the ratio 2 : 3 : 4. If the sum of their squares is 1856, then the numbers are :

A dEm 2 : 3: 4 % Srgura & § 1 afe I oIl &1 9T 1856 &, T WEA gl
{35 Hitmiret wigur3 2 : 3 : 4 €9 T | AT BTt R TIaN T HI 1856 T, 31 Hitmret T3
(@ 812 16 T~ 16,24, 32 (€ 12,1824 (d) 14,18,19

43. Eight friends A, B, C, D, E, F, G and H are sitting in a straight line, all facing the North. F is sitting
between D and G. B is sitting between H and A. E is third to the left of G, who is sitting at one of
the corners, H is third to the left of C. Who is sitting at another corner ?

ABRAA B, C. D, E F, G AR H U@ AN Y@ A 3 E, WA TR A IR G@AF W EIFDMMGH
i d12 B, H AR A S ST A IBTEIE, G F 0 A TR VAR, ) 5l & $H W ISR K,
C ¥ T & dreRy I TR B G B R P 93T 87

"SRRI A, B, C, D, E, F,GWH@HWW@%%,W@%%&?}HW@%I F,D 3G R
fegama $313) B, H i3 A © fegaa a1 dI EGRIR A TG AT IR 3F I H, CR W

M mad 3de TP HD A
( G oy H () B d) ¢
mWB\ 13 ED F C) P.T.O.
Lt
D e EagbinE




44.

45.

Gy

Which is the next term in the series 1,1,2,3,5,8,13 ?

----------

Y& 1,1,235813. . W AT U BN @M 2
SA1,1235813.... TNIAE dHd faaz1 2

(a) 44 (b) 34 ey 21 (d) 55

3 1
2
In a class 2 ©f the students are girls and rest are boys. If = of the girls and 7 of the boys are

absent, what part of the total number of students are present ?

,}xw”ﬁmﬂﬁ TSRl & ot e s &1 2 2 e ol - asamaq@m%a’rmﬁ%

pr‘b*

2
e
Lu)l,c@‘

46.

47,

CH-07/8

L@H@Tmmmmﬁ%%?

g s g 2 maﬁ»@wmmm aaaﬂwmé H34 IgIHd TG, 3 IS
@@mﬂﬁﬁ@@ﬁwfmmél

2 3 4
@ 3 fg cha/% © 3 @ 3

2 years ago Radha's age was 4 times her son's age. 8 years after the ratio between the ages of
Radha and her son becomes 5 : 2. What is Radha’s present age ?

2 T IR I B MY IS I Fi Y B 4 T 8 ¥ g YU SR THF AT BT Mg BT U
5 : 2 B1 ST & | 18T P I Y FATR ?

2 A& Ufg®i g & §a €A Usd <t €13 3 4 & H BHEEME IU M3 QIR YSg R g o
WEUTS 5 : 2 ¥ AT I Iw A Hger Qe alt a2 R @7*7“ %)

LA
(@) 38 (b) 40 e~ 42 ! (d) 44
&= X 1o = __"_;_-x S
P L
The difference of two numbers is 1365. On dividing the larger number by the smaller, we get 6 as
quotient and the 15 as remainder. What is the smaller number ?

31 el @1 3R 1365 §1 9 e 3 B wem | Rt w3 W &% HiTee & $u ¢ ol
e 3 & A 15 UK 811 8| §a SIdt S a1 & 2

2 Hfipyrai T w139 1365 1 T8 Hifnt § 8 77 3791 996 3, W 6 I 913 15 WA frimr I 2
Hfepoft 1 J 2 5o

pIIa
(b) 270 (c) 295 ) 360 I)i*e5

ﬂ 14 X-9 = 7365

51
a1p)” =
2 G0 )

(@) 240




A number consists of two digits. The digit at the ten’s place is two times the digit at the one’s place.

48 The number, formed by reversing the digits is 27 less than the original number. Then the original
number is:
g §87 A Q 4 1 < & RIF A 3P TP & RIF A 30 H1 S [ 81 34P! FI Jaeas a1
¢ e, O U | 27 F § ) 7 He gt -
g AN 129 2 wiq IR I5| TR R HEG I via Rg 2 HE Inlg v R g I wiai § BB
g8t Il Wit WIS Hitmi 3 27 We J) fea nmei $89 9 (3
(a) 49 (b) 94 Ly 63 ) d) 36 %’
49. A man drives to his office at 60 km/hr and returns home along the same route at 30 km/hr, then
his average speed is :
(@) 40km/hr (b) 45 km/hr
() 50 km/hr (d) None of these
U 3eH! 60 et fa b &t ifay I o raferg T @ iR W M A 30 fri ui e FI iy AR
Aea g, ISP A A7 :
_tay 40 ot ufa der (b) 45 forit ufa der
© 50 fadt ufa der d) THIDE TR
féq vt 60 faiea Y=t wier <t Ig39 a7 »y@ Tg34d AT I w3 §R A3 30 fadvies Y3t uie
T 9830 &% W3 TUR Wige 3, 3t GR R winz A 3 e
f -1 < }’0
(a) 40 faditea yHA uler (b) 45 fadhiica Yyt ler ‘ ﬂf;
© s0fadies yHtuler @ feos RIIdAnd * iy
£ 2
50. Who was the last Governor General of India ? ) g ,ﬁ
(@) Warren Hastings (b) C Rajagopalachari JE/,L
of L]
(©)  Lord Cornwallis (d) Lord Mountbatten g
WRA & M TR SRA P 4 ? ! %{
(a) AR AR (b) ¥ TSR SLLW 10y
© W praE @ wémdce A &
I3 T 0yt Jrednd HHIS A< H 2 21 ’)Ti’;
(@)  TI5 INEIE b) FHIwaumEd & zﬁ- _
746 24
__ O susaawetsn d) BIS g I/ A
CH-07/B 15 ¢ ] 785 P.T.O.
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51.  Which company has signed a 3 billion Euro contract to supply and service freight trains in India ?

(@)  Robert Bosch (b)  Schneider Electric

() Siemens (d) General Electric

TSy ST 3 IR AR ool ahe e 3 forg 3 e o) 3 o O gaR BT

@) e ay b) WER D

@ W9 ) SRR
ﬁaﬁﬁ‘uﬁ%mf@mmﬁwzﬂwﬁ»@ﬁ@w3mgﬁw '3 TA3N
AT ?

(a) JEIe 8N | (b) TS frdafem

@ wMR ) oI fedataa

52. Four defensive football players are chasing the opposing wide receiver, who has the ball. Calvin is

directly behind the ball carrier. Jenkins and Burton are side by side behind Calvin. Zeller is behind
Jenkins and Burton. Calvin tries for the tackle but misses and falls. Burton trips. Which defensive
player tackles the receiver ?

(@) Burton (b) Zeller () Jenkins (d) Calvin
mvmw@a@ﬁﬂsﬁmmmtﬁmm@%mmﬁaél Ffe @Y Ae
6P & Ui & Waﬁ?aﬁm wﬁq%%%l VTR, mmaﬁ%tﬂ@a e
ﬁuﬁﬁaﬂﬁmﬁfm%ma@m% 3R R S B a7 ) g o 2 B I ETH
faeret Refter @ Fgear 8 2 ,
() W (b) R A Sl @ Pea
g1d Jfemmaa e iz fedth eveits favfiea © e o0 99 T, A 98 91 Q) Jafes il o8
Ydg © e 31 Al »13 w3en Iufes @ R 961 78T Holan 113 ¥3es ¥ fifg J1 I8fes
s o AAH I I YT Y8 T J w3 f¥qr wiwr 31 s S I | fagd dmman fyz

g w18 BHHET 9 ?

, : 2 d asfes
6) ugds (b) #B3 () WofdA (d)
Pore b TR 16
CH-07/8 |



53.
left and moved 15 m. Then turned to the right deviating by an angle of 45 degrees from the
ongoing direction. To which direction he is travelling ?

(@) South-west (b)  South-East (c)  North-west (d) West
sgaTad 20 HIEX SR 31 oR gar 2, R a8 a1 ok goal § 3R 34 Hex 9t gt 7g wRa1 81 9@
Rpg A T8 3R TS & 3R 15 Hiex 3 Fgar 81 fhR ag =a & axn A 45 foht F o § fafea
St 9 T 81 75 o R A & 7 T
() CRU-UEA by g (€ JR-ulEm (d) ufEm '1—”
mhweazowﬂa@aésm,f‘aaﬁaufawmywﬁzaégaﬁémsﬂm Tag G0 ¥
Vo w3 15 Hiea WA <ftmn| fag 9 It o © &8 45 f39d @ AT TTER I8 WA T3 Y|
gafarfem<s Tl d:
(a) TuT-UsH (b) THE-YJH (© 33U (d) UsH
54. What is Britain exit from European Union popularly called ?
(a) NATOExit (b) Brexit (©) EuroExit (d) None of These
2 % TR Y & TER W1 B U Y WG 1 B el € ?
(a) CNfdRIC (b) sf&ie (0 FfRIC (@) FHIDE T
gaf Fu I fiRs R g e § BT I3 AR 96 7
@) o b) gafie € Faiae d) fegst f&3 et &
35. Rice is which type of crop ?
(@) Kharif (b) Rabi () Zaid (d) None of above
a7 69 YoR S Baa @ 2
&y e b & © Vg (d) IR J A P T
Io fan g s 32
() wudig b) 9 © = @) 3 Rfi T I8 5
CH-07, P.T.0.

Ahlawat moved 20 m to the north, then turned left and covered distance of 34 m. Again he turned
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56.

57.

58.

59.

60.

Aa) ORI (b) SHRIER (@ forarg (d)

. row the szp,
Sheela takes four times of the time to row a given distance against the streaih 8% t;? " 6.
distance along the stream, Ratio of the speed of the boat(in still water) and stream 15 -

et 3 @ 13 571 e e ) e 2 a5 g e A o) 3wl S AR
SR T TR 1 7t ey (R R ) i e 8 R 7 STl T & 2

e § feat Tl § w2 e e e wd v g i Fa A QA g § U9 T RE
ferf e R v g | frre) € e (e e g i e € ar w vguB A 97

@ 4:1 by 1:4 () 3:5 d 5:3

In a certain code SHIMLA is written as RGHLKZ, then how will PATNA be coded ?
Wﬁﬂwmﬁgdl’\ﬁeaﬁ RGFILKZ for T 2, S PATNA 1 1S & 25 foren ST 2
fEaymasfeg SI-,iIhleAﬁ RGLLQZWW@,E’H PATNA § 33 fa far ffimi Aram 2
(@ OZIMSO (  (by OzsMz ~ (© ZOMSO (d) 0zZMSZ

oz23ML
Lala Lajpat Rai died protesting against which British Act/Commission ?
(@) Rowlatt Act (b)

(c) Bengal Regulation Act (d) Hunter Commission
mﬁﬁmaﬁﬁmﬂ/mmmumgqmmmaﬁmgézﬂ?
() T TR by TS HIHTH

() e oA Afafaw (d) TR HERE

fam ffen wae/afims T feduaR NRem s TRtk I8
(@) IWENE (b) AEME TS

(€ Hars IPIHG Mae (d) dedams

Simon Commission

Select the one which is different from the other three.

(@) Bokaro (b) Jamshedpur () Bhillai

(d) Agra
3 1 A i 0o fasheq &1 999 &)

f6q ¢ o gt fdat 778 g 9|

@ a3 (b) THRTYS © fourd (d)  wirar

Kargil Vijay Diwas' is celebrated on which date in India ?

(@) July24 (b) July 26 (©)  August 01 (d)  August 03
URd # PR fas Rag- i ariie &) wem s

@ 24FM ) 269 © 013 @ 03 3T
aafrs fer feem 9193 R fam gty § e s 3 2
(a) 24 g8 (b) 26 guTER (©) 01 W3

(d) 03 »gmz
CH-07/B 18



61.

A bus starts from Chandigarh. The number of men are thrice the number of women in the bus

At Ambala 12 men leave the bus and 16 women enter the bus. Now number of men and women
are equal. In the beginning, how many passengers entered the bus ?

Ma@aﬁwawﬁmaﬁmm&hﬂmaﬁmm%la%mmﬁnwaa
3 3R 4 © 3R 16 AT 59 & ¥ O 81 3@ a9 F qos) IR nfzensdl @) wem o 31 g #
< 7 fran TGl A waw faar o 2 m F JA-1 = X416

y~ 14
3 ! d1= 32§ "y

1= 1Y
m?@ﬁﬂmﬁlﬁﬂﬁamﬁﬁ@ﬂ@émwﬁﬁﬁmmﬂwﬁﬁ
12 wrenft ¥ &5 €33 AR I5 »3 16 »ig3t W &g ¥3 A T8I T Haet w3 Wa3t A fare3t
garad 31 gg f<u ¥R ST fatt Aerdnt 7a 2

a7 56 b) 66 © 46 d 76

62. Ram, Mohit and Amit can complete a task in 12 days, 10 days and 15 days, respectively. In how
many days can Ram, Mohit and Amit together complete the same task ?
T, T AR o T B B FAR: 12 R, 10 R R 15 RAF [ aR w96 €1 W, Afed 3R
3ifera freee o o1 &) fhar el A W aR Wdd 6 ?
. T3 w3 w3 e 12 fes, 10 foa w3 15 fewt e g 4 yar 99 Aam 761 I, Hfa3 »3
w3 fdd foat f&9 i o § YaT 9 AR IS? ' L g
@ 8 Ao 4 © 2 ) 6 f,‘ ﬁ
63. A motorboat goes 24 km in 2 hours aiong the stream and 10 km in-1 hour agains‘t'the stream. The
speed of the motorboat in kilometers per hour is :
% Aiexaie uRT 3 e A 2 92§ 24 Rt ok uRr & vl 1 92 F 10 e Terdt 81 Hievale it
Tfa fedier ufa 9e gl
¥ Negde T 2 w78 2 R 49 24 fadiies »3 T @ fedu 1 wR R 10 fadiea widt I
fadiea e g e dadt QI -
(@ 14 (b)y 10 Ao 11 (d 12
4 =\ Sk
64, If3x+2y=7and4x—y=24thenx—y=? ;’«z 10 g ’ﬂféj-z) _5_5__
M 3x+ 2y =7 SR ax—y=24 A x—y = ? o = F £o
WAd 3+ 2y =7 WD ax—y =243 x—y =? x> £ X5
& 9 © 1 © -9 @ -1 S=(-4)
mkxax+&y=7 R F¥§5 = &5 P.T.O.
Ixyr-Yy =Y “+ "33 =’}:q g=€9)



65. The LCM of four consecutive numbers is 60. The sum of the first two numbers is equal tq f

number. What is the sym of four numbers ? T % TR |
?ﬂ?% TR R 1 L 0 1 el @ o 1 A e S & 0 81 R o
R

gaqgg%m?mm 60 J1 Wéﬁm?ﬁ?ﬁméwa' 13 iy
ik

@ 17 (b) 14 (© 21 3~ i
| }2/ 60 q o
66. The sum of first five prime numbers is : ‘ Yo el
TR Ui S1HTST Sl a1 a2 s
. Gt o 4o
UiTE U Yy Amret @133 9 2%

@ 1 (b) 18 ) 26 b(dj/ 28
3+3+57+

67. A Tiebreaker is an additional contest carried out to establish a winner among tied contest;
Choose one situation from the options below that best represents a Tiebreaker.

(a) At halftime, the score is tied at 2-2 in a football match.

(b) Serena and Maria have each secured 1 set in the game.

()  The umpire tosses a coin to decide which team will have to bat first.

(d) RCB and KKR each finished at 140 all out.
a@mwaﬁhﬁm%@uﬁﬂﬁmﬁméuﬁmﬁﬁwﬁﬁmw*

oo - e —— —

smdfera o ot @1 A g g R § ¥ 0w Rk B g @ o emder @7 g ¢
ufafafie w21

(a) Tedld A9 # AR & I R 2-2 YRR ST )
(b) T R T 3 Wt F 1 e v fpar B
©) muaﬁvhéﬁaimwﬁimméﬁﬁfﬂmﬁmmmm?
, (d) IRWHIRF F 3R 140 W 333 B 71y
mﬁamwéﬁwﬁm%ﬁamgmmwwﬂwm
3 fearmut {4 fi wist g 1 <réiged § e 3 < wam@eh 3,
(@) 0 AN 3, gous WY &9 Aald 2-2 7% ¥9Hg Jar ),
(b) TG M3 Hid & I &7 1-1 He gtz stz
(©) WWWWW@HWW?WWW%WWW%I
(d) MIFER w3 AT 14073 WS MG I TR
20 T—

CH-07/B




s, Find HCF of 48 168 and 324, T a
y . - qu) 74y
48,168 3R 324 BT HCF I1d Y| %’gz/wL LS
48,1683 324 THCF B3 | e~ Yo I
T 6. 4 VAN L
()9)/12 (b) 18 (c) 28 (d) 36 | SR - J
b= X
. HL
69. 5 years ago the age of a man was 7 times the age of his son. The age of the man will be 3 times
the age of his son in five years from now. How old is the man now ?
(a) 30years (b) 40 years () 50 years (d) 60 years
s g Ugd), U oafad B 3MTg I T b1 31 &Y 7 761 N, o U auf a1g oot Y Mg I T
aﬁmaﬁawéawﬂlara@awxﬂaﬁaﬂgm%? -7 "'2;,':':
(3 30TH L(b)/;o:ﬁ (© 504 @ eoa§ 3 faalks
. pi " - . BY Y= 1
5 7% Ufgs, Ra il e R Uza S Qe v 7 g il e I At e mraft A9
€7 U39 € B3 T 3 IoT I Al g vt € B et 9 2 . g&f;g
y ;
@ 307& (b) 40HS () S50AS d 60WH x} oA
Lx's
oA
70. In a certain code, ‘GAME’ is written as ‘'HZND'. How is ‘RAVI' coded in this code ? & g
s fAfd e 4w &, 'GAME' B 'HZND' & ¥ B T 9IrdT 81 $9 ¢ HIW # ‘RAVI' B & Heds
5 . Q1S g ally 4 2w
g yr 33 &8, 'GAME' § 'HZND' fafim 7w I fer a3 9 RAVI g faR ag dizTfamn I 2
(a VIAR (b) SBWI —T©  SzWI (d) SZWH
71.  In which year British had their victory in Battle of Plassey ?
@R & g A ol @) faoa fpa ad Agg Ui 7
YT € Bard feg »idowt € i3 fam 7S fdu J€ A 2
(@) 1690 (b) 1748 (¢ 1754 ./@/1757
: I
2. The largest natural number by which the product of three consecutive )ely;gn natural numbers is
always divisible, is “ -
mmmmmmmmmmﬁmwmﬁmm% 0
m?éﬁmmmwmﬁaégﬂﬁﬁw@vmméﬁwwmi
feg:
@ 16 (b) 24 (c) 48 (d) 96 -
CH-07/8 21 P.T.O.
JEX NP XLE 96y 94y
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73.

74.

75.

are thrice the number of girls. Surinde

There are 80 students in a class, where number of boys g
e after him |,

ranked 20" from the top. If there are 11 girls ahead of Surinder, how may boys ar
rank ?

Y
T B A 80 BT &, Rrerd g ) e rgfovel af s 4 i 4 &1 fer i 8 200 R
R19R 11 el g 2 o 2, A Yo A s g fve) g R E 7
RS 713 23 80 fefemrad 75, K12 mafimit o faredh gt € fare ) &8 ffa g 31 BIEa 9
20 WS 331 e pidea I 11 g i 75 31 §R F amie Ja R IR BRA JT T4 ?
(@ 49 d 55
. ? 5'46)/51 d yfgrz 53

3 b et
oo g ”‘ @ —,:,

A shopkeeper sold two mobile phones- for Rs 20,000 each. The first one is sold at 10% profit anc
the other one at 10% loss. Then his % gain or loss in this deal is

(@) No profit no loss (b) 1% loss

() 1% gain (d) None of these

U@ GHMER 3 3 AlEEa B 20-20 §9R JUT F 331 T8 B 10% TH R G DI 10% B T
=11 A 3T IS A ISP A1 171 v (%) | Ik

(@) APE A, APE B B 1% B
(© 1%TH d) THIDE L

fea garaed 3 © HEES 20-20 IH9 guR &8 201 UfgsT 10% HE™@ 3 »i3 THT 10% Wi 3 fan
famn 3t fom AR &9 ER © B8 7 5aAs Yf3H3 (%) 9

(a) & AT BTG, & AT TAI (b) 1% T&
€ 1%8T3 d) feast &3 a8t & &

The greatest number that divides 38,45 and 52 leaves remainders 2, 3 and 4 respectively is :
@@ 4 (b) 5 () 6 (d) None of these

T4 g9 HBT ol 38, 4ssh!§gaﬁﬁmﬁfam,%eh1m: 2,334 Av g9 ¥ Poff@g i
FAWE? 2

(a 4 (b) 5 ety 6 d) THASE TS

73 3 ¥ ¥ifemi 31 38, 45 13 52 § TIE Q3 Tl PG 2, 3 W3 4 HER T, V5 fafmit R fixgd
&

@@ 4 b) 5 (€ 6 d) feostfEdad & =

CH-07/B 22



76. T s
e e 3R TP DY Bo 1 3gurd 1: 2 81 If I Har R @, A I M1 BT I @
fitg 2w< "3 WY © »au-fenmr T U3 1 : 2 1 g Gast € Gl wareg I, 31 Guat © mifeIs
g3 3 M *.. Zl{f}f}&
(@ 1:3 (b) 2:3 AT 3:4 d) 4:1 L;,!‘;i,

77. “City Of Dead “ —a UNESCO World Heritage Site is situated in : ;Y 7.19’)((1
(a) Egypt (b) Germany (c) Pakistan (d) Burma 9’ ( LV
“City Of Dead " - W TG Ry R w@__ AfRael 112
@ o (b) A @ Ui @ =i~ e
"City Of Dead" - {63 G&ra feme feamAmes _ RewfEz i ¢
(a) fHAa (b) FIHH © ufaA3® d) " & -

/| ) H

78. Which of the following is not a leap year ? 31 Y
PoRfRa i s e af Tg1 8 2 —
fegwt &9 faga B AS & J 2
(a) 800 (b) 1200 A 1400 (d) 2000

79. In the following, out of four words, three are alike and fourth is different. Find out the fourth one.

(a) Saw (b) Knife (c) Axe (d) Screw-driver
frafefed # ar wedl & 9, & 99 § SR iyt Trsg oferT & A8 Wsc BT TaT T |

() M (b) TE (© PeoISl Ady” YIHE
ferafays &g, g9 weet &4, i ffa f0 95 »2 Ja Ay J1 o uzr =)

(@) W b) T9g © g ) UEam

80. The perimeter of a square is equal the perimeter of a rectangle. The perimeter of the square is
40 m. If its breadth is two-thirds of its length, then what is the area (in m?) of the rectangle ?

W& T 1 uRmy e orad F URATT & SXeR g 81 @ @1 oRkeng 40 R 81 9l 3w derd

P! S ) <) e 8, o o 1 AW N7,

f¥a <991 = g firg wifezarg @ W R FaEd g A1 99 T W 40 Hiead A1 A9 fere? Jardh

Perel e @ fiyare 3, 3t wifega @ 39 (me ) 97 2. @

(@ 100 % © 84 d 121 ¢
CHos

The ratio of radii of a cylinder to a cone is 1: 2. If their heights are equal, then the ratio of their

— Wo
ua = 2fdrb) ® gLy~ = 5wy  PTO.
16




81.

82.

83.

85.

. ic Forum?
What is India's rank in the Gender Gap Report 2023, released by World Economic

TS T W g1 ol e g Rale 2023 1 RE 3140 AT ? \
TIu3 feamfiia Qo ora wrdt e v falige 2023 fegggg e eam Al d?

(@ 122 f(b)/ 127 (c) 137 (d) 148
Lyrics of ‘Ik Kuri Jihda Naam Mohabatt’ were writtenby

(@)  Sahir Ludhianvi (b) Amrita Pritam

(€)  Shiv Kumar Batalvi (d) Jawed Akhtar

o o R mieea vam_. griRRA™ I

() WIfeR g (b)  fFger HiaH

© @ euR Temd (d) WaG /R

feq g3 fager s ydes R 81 gt fgy I A&

(@ Fiaa Bl (b) T i3H

(0 fRDEITsS (d) TRE MY3I

The ratio of width of our National flag to its length is

TAR AP & Bt TiaTs 3R ANSTE T U @ -

A3 I §3 T BaEl »i3 FE T pu3 I

(@ 3:5 /(—bf/z:3 () 2:4 (d) 3:4
Which will be the 10" term in the following series ? 96 2
Profafa y@en 3 1091 Ug 1 1 8m 2 qeln') et
YA mA R 0 dm ARy 3@“1
357,363,369, ......... 41@

(@) 405 (b 41 () 413 d) 417

In June 2023, which of the following state governments launched Asia’s largest, ambitious ¢
historic cluster development scheme ?

(a) Rajasthan (b)  Bihar (©  Gujarat (d)  Maharashtra

o 2023 A, Frfofa 7 9 i T TER 1 9 o T ), wearsieh ol dfefe @
farTar YoM Y &1 2

(a) ORI (b) far- () TR (d)

g 2023 9, 95 feriiog 9 farafl T 7Iw'3 & Bfton A w9 3 29, ifirmsmsl e ffarrg o7
feamn e 7g <fiE1?

(a) TWHES (b) faara (€ I3 @ Vomwes

CH-07/B 24
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6.
; cantonment for battle. Then after how much time the food will be consumed completely if the
consumption of food remains the same for the remaining soldiers ? '
(a) 60 days (b) 47 days () 12 days (d) None of the above
@ o1 A 50 1T % R 210 vt 3 4719 ot e 1 30 R85 e, 140 AT 3 g A o
ymmmﬁlﬁm%m%mmﬁmmmﬂ%mﬁmw%mmqﬁ
e & g B S 2
(@ 60feA b) 47fe7 © 12fF d) TTHIBE TS
fgag@a?feasoﬁﬁiwszﬂwaw—é@?BEﬂ{ﬁum3ofew‘rm14ofwalmﬁawz
9, a@ﬁ%@lﬁmﬁh%émwmmﬁéfmﬁaamféﬁﬂﬁm
375 Yt I ¥3H I a2
(@ 60fe% (b)) 47fem © 12fw d) feosifeadtdadt
K16
9/2’72
37.  How many of the following numbers are fully divisible by 1327 L’S:""
Frafafed # 9 fea et 122 @ we v 22
It Sttt Hfemiret 19 fdadtort Hfemrei § 132 78 ydt 39t S e 2
.
264, 396, 462, 792, 968, 2178, 5184, 6336
a . [y 1 35
(@) 4 ’?- ’ ©F 5% ’43r © 6 —@ 7
88. If A + B means A is the mother of B; A—B means A is the brother of B; A % B means A is the father
of B and A x B means A is the sister of B, which of the following shows that P is the maternal uncle
of Q?
U A+B BTG A BT R, A-B BT SIRTB A BITUER; A% B F1 3 R 5 A, B &1 Ry
BARAXBFT aef 2 5 A B 961 2 O P A A 1 o1 ey axfen & v p, q &1 vT 2 2
HIdA + BRIngE I A BEIH I A-BTHIBEIA B TIT I A%BEITIA BT Uzt I med
AXBEWIE I A g e 3, Iot R RS fagaream@urdfar, qenmidy
@ Q-N+Myxp (b) P+SxN-Q -
© P-M4+NxQ d Q-S%P |
\
CH-07 /B 25 P.T.O.

A cantonment had arrangements for 210 soldiers for 50 days. After 30 days, 140 soldiers left the




89.

90.

91.

92.

93.

A train of length 350 m Crosses a bridge of length 250 m in 20 seconds. What is the speed of
train (in km/h) ?

350 IR il 27 250 Hhew o 961 B 20 g R el &1 27 1 R (/AL B e
350 Hica Gurel 8] Juatdl 250 Hied 9 dure e s § 20 Aefe 9y TaE 31 3B Ay
fdatQ dauf 1<9)?

(@ 9 (b) 72 1 d 88

Name of mother of Maharaja Duleep Singh, the last Maharaja of Sikh Empire, was :

() MehtabKaur  (b) Jind Kaur () Datar Kaur (d) Ratan Kaur
Ry W4T & 3fTH HERToT, WERTST Tty Rig &) AT &1 7 T :

@ TEEHR (0 RiEPR © TERBR () WADR
i AT 2 Winddt Hara, Harav Tty fifw, Sysrer s

(a Hfg3E g b) frieda (@ T3IIAd d) I35

In which year did India win Cricket World Cup at Indian Soil ?
YR A frg au # HRAg eRedt W e fay o offar um?

9193 B fan A 3793t ua=t 3 faae feme JFu itz H

/@7/1983 (b) 2003 (¢ 201 (d) 2015

The value of x for which the expressions 12 —6x and 4x +2 becomes equal is :
x T A Forads g aiftreafadd 12— 6x R 4x+ 2 RER B WA 6 :

x TS TR TE Miaas 12— 6x W3 4x+ 2 TTTHI HER 9
@ o (b) 2 ey 1 d) 4

During his recent US trip, Prime Minister Modi was gifted a book of poems by the Bidens. Th

book is the work of famous poet
(@) Robert Frost (b) T.S.Eliot (c)  Emily Dickinson (d) E.E. Cummings "

St BTl € 3 o A 3 R, HUHA It @ S1380 GRI BHidaied Bl T JHe JUBR H ¢
Hf g e IR PP

(a) MaE IR b) AEFEE (o AR ) 35

WA e »iHdten TEaT 296, YUTS W3 Nel § fadan T afeare o ¥ fazg 39 @

iAo il froymsayfifusd____ @3ward
(a) JHICEIE () dMmAEmR (o MEifsaeEs d) € e ahlem

CH-07/B 26



94.

Which two signs should be interchanged to make the given equation correct ?
Ry e THE B TG TR ¥ Rg 1 Q) gl B aimow F wreen Ay 2
¥ gt mfiads § A werle el faaa 2 gt § sefon e wrdter 3 2

25-5*50/10+35=155

l/(a)/*and - (b) *and + (c) + and - (d *and/
25X S- SP
)35 - S+3>Y @ ¢
95. When @ the construction of previous Parliament Building completed ? For 12 9
5 }’-j__

fred G9e Ha- 1 fAmin B qRrgsn a2

fug® ¥ire 3<% < Bt ad ydt Jdt At 2

(@ 1921 (b) 1927 () 1947 (d) 1950
96. Which one of the following given responses would be a meaningful order of the following words ?

1. Point 2. Triangle 3.  Square 4. Angle 5. Line

Profafea # @ o 91 Sw el weal &1 arlid &4 g 2
1. fag 2 fy@ 3 d@R 4 @I 5. @
ot 3 Heei 4 fagar g Iot 3 el © »Tayds gH eam
1. fég 2 fgde 3. <A@ 4 O 5. TER-

@ 41523 () 32154 (@ 21453 4 15423
‘g
&)
T —
97. Theaverageof7,11,15,x’14,21,25i515,thenthevalueofxis: qd ¢c— Z 93+X=
-
7.11,15,x, 14, 21, 25 S w3z 153, fea x T B di 73 [i)-{_
@ 3 5 d) 133 2
— @ 3 b) 145 A1
CH-07/8 ( 27 [ 3 P.T.O.
o == 6 65
b . JJ)xke 13 )2




i i i f five are re
98. Ifin alist of all the alphabets, the alphabets at positions of multiples 0

di
and the alphabets at positions of multiples of seven are replaced by ¢'9

are left now ?

Hﬁ&ﬁsﬁaﬁmaﬁw@ﬁ,u’fa%@%wmaﬁ
m%wﬁ%mwmﬁaﬁm'z'%uﬁw@ﬁmm

3 W eI ¥ g 1 G, Un R A R AU T
H3 2 w2 Hus R gt § vl 2 7% e g A 91 3

(a 15 & 17 © 18 @ 21

99. Which of the following slogans was given by Netaji Subhash Chandra Bose ?

(@) Give me blood, I shall give you freedom
(b) Freedom is my birthright and I'shall have it
(c) Defeat and failure are sometimes necessary steps of victory

d) It'sa fight for freedom, freedom from past for coming future
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100. Who won the Malaysia Masters 2023 badminton title ?

(@) Viktor Axelsen () HS Prannoy
(© Weng Hong Yang (d)  Prakash Padukone
AR A 2023 BT SSfHe o1 fadre frem i & 2

(@) TR TR (b) TETHOE
( FEmar (d) VI UIGHIT
VT HACaH 2023 S3fifes fuzre famd ffam 2

(@) feacd NAASHS (b) WA YITH
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